<l
dl

Q| ulH| A

=%

HEXI=

132(5)

1
=

HHEE : 20234 7

ZAN 2% Jls

s Al :

<l
__An

Kl

H0

422 ofEjE M -

- Ss=ol AN HHDM Jhx| )

AN 713(%) Fo tE

—_
fi%e)

o) dAAel AA AE AR o] Fojn Uetslelsl AAH

=

A

1989

T

™
K

=)

A R

al7

o]
=

2 AA

=
= =

o)
flZ

FAsUT of=d, o|H & W&

S

2 WS ZwA AzRT

ol WEe AVIZ F=ol A

ety s A5y T

=
=

1

sAA U7ty

]

,AU



il

| ulHlA

=k}

HEXIE

iy
—

Lo Mz A

o] 24t

=
=

-

= 714

35041 7}

1

%

o] 2}

ob=2 &7 Aldell +f

olJet A7z}, IT

tasy

5]

T}

oFZ U E7IE 7T

=]
RLN

e

A}
Holl 7]

s

LA gaow A

=
=

2o+ 2 = A X](Solidarnosc)”

AAGAA T

o)

OO]:

e
o] 7}

kil

=
Froh

o

FRAEU

5]

&

e

==
T

kil

3 sl Es|gE ook

= 9= #A - o



